#3, Starting: “Sandy and Sunshine were twins.”
Sandy
· Gift is excludable from income under 102 (no tax effect)
· Taking out and paying off the loan (principal) has no tax effect.
· School/bar prep expenses are in preparation for (rather than maintenance of ) a profession, so no deductable. (162)
· Note that there are educational credits that we did not cover.
· Interest paid on the educational loan during the year it was being repaid is deductable (221; subject to phaseout)
Sunshine
· Gift is excludable from income under 102 (no tax effect)
· Insurance payment to Garcia appears to be an insurance-compensated casualty loss (due to an unexpected and unusual event), even though the damage cause was non-physical (see treatment of Garcia below), and thus has no tax effect for Sunshine under 165 as the entire “loss” was covered by insurance.
· Garcia taking Sunshine out to dinner was done as a gift (detached and disinterested generosity), and thus has no tax consequences for either.
· Garcia paying for the car is either a gift (no apparent quid pro quo) or a cancelation of indebtedness. As Garcia’s payment (which I assume is all principal) is treated as a gift from him (thereby not reducing his taxes), it should likewise be treated as a gift to Sunshine (thereby not increasing her taxes) to avoid double taxation. As the transaction, even if he pays the principal directly to the lender, is more like her assigning the benefit of a gift to the lender (given that he could have paid her directly) this result also makes sense. Thus the payment (of principal) has no effect on Sunshine’s taxes because it is treated as a gift.
Garcia
· Damages were for pain and distress rather than physical injuries (they were resolved with simple antiseptic and bandages) and thus includable under 104(a)(2).
· Garcia taking Sunshine out to dinner was done as a gift (detached and disinterested generosity seems to cover dates as there is no explicit quid pro quo), and thus has no tax consequences for either under 102.
· Paying for the car appears to be done with no expectation of a quid pro quo (lifting a moral weight on Garcia does not constitute her giving up some property or right) and thus seems to be a gift under 102, and thus would have no tax consequences for Garcia.
· Fortunately for Garcia, after this and the dinner (assuming around a 30% average rate) he’ll have just enough left to pay the tax on the unexpected income (settlement payment).


#5 Starting: “Stanley Kaplan was a "hot property" in the software business”
1. Stanley rents rather than resides in the house, so it the exchange is treated under 1031. His basis is $300 ($330 - $30 of depreciation). When he takes the exchange his amount realized = $800 (loans assumed by IBM + value of CT house), and his realized gain = AR – Old Basis = $500. The value of the boot is the loans, or $400. Gain recognized is the lesser of boot and AR = $400. New Basis = Old Basis ($300) – [Cash $ realized ($0)] – [debt relief received ($400)] + [debt assumed($200)] + [amount of gain/loss recognized on exchange($400)] = $300. The only tricky question is what rate the Gain Recognized is taxed at, which seems to hinge on the fact that the whole transaction was essentially wages from IBM, so it should be taxed at the marginal rate rather than the LTCG rate.

2. IBM starts with a house in CT with a basis of $400. It exchanges it for a house in CA worth $600 and assumes Mortgages of $400. When it sells for $600k this looks like a RG = -$200, but it is really compensation for Stanley, so IBM can take a deduction on it under §162. This also affects treatment of Stanley


3. Stanley’s basis at time of the transfer is the $330k paid for the house minus the $30k of depreciation taken. It was used for rental (income production) rather than as a principal residence, so no favorable treatment under 121(a). The exchange of houses is governed by 1031. As he gets $200k in cash and $400k of debt forgiveness (boot) out of the deal the transaction involves mixed assets. Realized Gain = Amount Realized ($400k worth of new house + $400k of debt assumed by IBM) - $300k in original basis = $500k. Boot equals the $400k of debt forgiveness. Gain recognized is the lesser of boot and realized gain, or $400k. New aggregate basis (in house + boot) equals old basis – cash received + realized gain = $300k - $200k + $400 = $200k. Basis has already been allocated to cash, so new aggregate basis is allocated entirely to the house. Gain recognized constitutes payment of wages (it was in exchange for him working at IBM), and so is taxed on $100k.
4. IBM starts with a house with basis of $400k in CT, exchanges for a house with $400k in mortgages in CA. The exchange has no taxable effect under 1031. They receive $600k for the CA house, and use $400k to pay down debts, so have a realized loss of $200. Normally that would be tax deductible, but this whole series of transactions constitute payment to Stanley for his employment, and thus are tax deductable under §162.
